Add fractions

Add 2 or more fractions

Subtract fractions

Subtract 2 fractions
Subtract from whole amounts
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i IALT: subtract 2 or wmovre fractions

Use the models to help you subtract the fractions.
Round to the nearest 100
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6578
5438
6845
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Use the bar model to subtract the fractions by taking away.
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Fill in the empty boxes for the calculation shown by the bar model.




Use the bar model to subtract the fractions by taking away.

Fill in the empty boxes for the calculation shown by the bar model.
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1) Use the bar models to subtract the fractionz by taking away.

a) Calculate the answer. c) Colour the bar model and calculate the answer.
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d) Fill in the boxes to calculate the subtraction.

b) Find the missing numerator and
calculate the answer.
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2) Usze the bar models to subtract the fractions by finding the difference.

— a) Calculate the answer.
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b) Colour the bar model and calculate the answer.
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c) Fill in the missing boxes to calculate the subtraction.
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1) Lisa and Mo are calculating %- % °
Here are the models they used to help them calculate the answer:
L

Z Spiey

Are both models correct? Explain your reasoning.

2) a) The answer to a subtraction calculation is _2_. Tick the representations which would give the correct answer.
Explain your reasoning for each.
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1) Find 6 different ways to show a subtraction calculation which would give the answer 2 use bar

models which show taking away and finding the difference. Write the matching calculation and
answer for each model. O I O I O I
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Lisa's model Is not correct. Ner model has started with 3, not §.
The second model is correct.
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a) & shoss g which gives the answer -

Lip i b
B shows R which gives the answer '
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Therefore, A and € give the comect answer m‘%.

b) Children's answers should show o model and o matching coleulation where the onswer equols % .
For example:
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1) Children's ansiers should include at least one of each type of represemtation. For oxample: @

= bar meodel shesaing taking asay
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- bar model showing Finding the difference
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2) Children's word problems should &t the calculation -}! - f—f Tr! For example:

A pizza was cut inte 12 shices. There were 7 slices left. James ate some of the pizza and then there was | shice left.
What fraction of the pizza did James eat?

2) Here is a calculation with a missing fracti
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Use the bar models to subtract the fractions.
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Annie and Amir are working out the
answer to this problem.
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Annie uses this model. @
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Amir uses this model.

Which model is correct? Explain why.

Can you write a number story for each
model?
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Annie and Amir are working out the

answer to this problem.

Use the bar models to subtract the fractions.
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; _—-— = 7 Annie uses this model. @
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E _a é Amir uses this model. &
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Which model is correct? Explain why.

Can you write a number story for each

model?

Show- He Teacher Huws avrswer! —
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